éﬂerenz:a/re@imung

"P‘"if, \!’J

Mff vl” ‘; gy Wf Produkfwﬁ# Quotveﬂtefm*egef 2 ‘*‘vf Losu‘h@“en Y.

1 1

Losung Al

i) =x*-(x—=1)

Level 1 - Grundlagen - Blatt 1

fi(x)=2x-(x—1)+x%=3x%—-2x

f2(x) = x-(x—1)?

fz'(x):(x_1)2+2x.(x_1):3x2—4x+1

f3(0) = (2x* = 5x) * (x = 6)

f3(x) = (4x —5) - (x — 6) + 2x% — 5x = 6x% — 34x + 30

fa(x) = (x2=2x)- (x2+2x+ 1)

i) =0Cx—2)(x?+2x+ 1)+ (x2 - 2x)(2x + 2)
= 4x(x%>—1)

fs()=@2=-x)-*-1

fi)==-(2 =1+ @2—-x)2x=-3x2+4x+1

fe(®) _< t2 +3) t—-1

1 3
fe’(t)=t-(t—1)+§t2+3=§t2—t+3

f7(t) = t? - sin (t)

Losung A2

fitx) = (4x = 3)(3x - 2)

f7(©) = 2t - sin(t) + t2 - cos(t) = t - (2 sin(t) + tcos(t))

filx)=4-Bx—2)+3-(4x —3) = 24x — 17

f2(x) = (3 = 4x)(6 — 5x)

fzf(x):_4.(6_5x)_5.(3—4x)=40x—39

f300 = @Bx* =2)(x* - 1)

fL(x) =6x-(x3—1)+3x%-(3x2—-2) =3x-(5x3 - 2(1 +x))

fi(x) = (—4x? + 3)(x2 +5)

fi(x) = —8x-(x2+5) + 2x - (—4x? + 3) = —16x3 — 34x

fs(x) =3x%- (2 —x?)

fe(x) =6x-(2—x2%)—6x3=12x(—x*+1)

fo(t) = (t + 2t2) - t2

fe@®) =2t-(t+2t))+ (1 +4t)-t>=t*- (8t +3)

() = (1 —t?)(2t +3t2 —5)

f7(t) ==2t- (2t + 3t —=5) + (2 + 6t) - (1 — t?)
= —12t3 — 6t? + 16t + 2

Losung A3
filx) = (12x — 5)(1 — 3x?) fi(x) = (12x — 5)(—6x) + 12 - (1 — 3x?)
f2() = (2x+ D(Ex +1) ) =2-Gx+1)+3-2x+1)

f_#(;) — 4;;3 3

f3(x) = x*+ (3x + 10)

f1(x) = 4x3 - (3x + 10) + 3x*

f2(x) = 0,5x° - (2 — 4x3)

fi(x) =2,5x* (2 — 4x3) — 6x7

fs(x) = 4x?- (12 + x?)

ey = (A2 2y 4 4t
fe(x) = 8x(12 + x?) + 8x3

fo(®) = (5x% —2x) - x

fo(t) = (5x3 — 2x) + x - (15x% — 2)
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